
Year 3 Maths – Lesson Two LO – To subtract 3 digit numbers.
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STEP ONE
We cannot subtract 7 
from 1 – if you had 1, 
can I take 7 off you?
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STEP TWO
We need to 

exchange a ten 
rod for 10 ones.

Now I can 
subtract my 

ones column, 
11 – 7 = 4
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H T U

6 8 1

- 4 5 7

2 2 4

STEP THREE AND FOUR
Complete the calculation by subtracting my 10’s (STEP 

THREE) and then my 100’s columns (STEP FOUR).

Remember we reorganised our 10’s column so we 
now only have 70 (or seven 10’s) in there now.

7 1

EXAMPLE

681 – 457 = 224



Year 3 Maths – Lesson Two
NOW YOU HAVE A TRY WITH THESE CALCULATIONS!!!

REMEMBER TO USE THE METHOD ON THE FIRST SLIDE TO HELP YOU.

Up for a challenge? – See if you can solve these ones.  Don’t worry if you can’t 
these are more than we need to know at the moment.

1)  536 – 248 = ??? 2)  611 – 447 = ??? 3)  837 – 249 = ???

Try these ones first!

Then 
try 

these!


